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d
TR _¢f 5 dy _ 5.  /24.99 3 3o
J;J; (x+y) soon >
g (A) 4.999
(A) 2 (B) 4.899
(B) x+vy (C) 5.001
€) x-y (D) 4.897
o <
x 6. |3x-5|<2uoon
2. 333N cRYTTY, deee 8 ey Ay S exz 4
SR eHTOPOE ? _ 2
(A) fix)=x*—4x+5 in[1,3] (B) leSz
(B) fix)=x2-x in[0, 1] 3
(©) fix)=|x| in[-2,2] P
@) f9)=[x] in[25,2.7] () A%tss
9
3. flx) =% - 62 + 9x + 10 203ZWD (D) ‘15"55
QR0 o3oovy
(A) (0, 1)U (3, ) ‘ 7. orbac;)aaj ¥ ‘X' 8 Qo
B) (=0, 1]U[3,) ' RorgRectdanRy S B9t datmpt k Siouorspe
©€) [1,3] Bozn |
(D) (--CD, -l] v [39 w)
X[ 14203815 6]. 7
4.  word IwRE Sbut  weEdnsd PX) | k-1 3k| k | 3k | 3k2| k2 | k2+k
4 R.0Y3. TURY, FQRIE. &rud “Then the value of k is J_
WD 14 3.Q0¢. BTN 40 dRecdr s @A) 1
TOReRIE Q080 5
(A) 1043 cm?/sec (3. 3.20¢/%) B) -2
(B) 14+/3 ecm?/sec (3. 3.20¢/%) © %
(C) 42 cm?sec (3. 3.20¢/3) 1
(D) 14 cm?¥/sec (3. 3.20¢/3.) : (D) 10
Space For Rough Work
A-1 2 ; Mathematics
. QuestionPaper

{ - Drive.in



Downloaded from questionpaperdrive.in

MATHEMATICS

If%/)_u/;=ﬂ(x+y)5 , then %=
A =
y
B) x+y
(C). x-Yy

o I
X

Rolle’s theorem is not applicable in
which one of the following cases ?

(A) fx)=x2—4x+5 in[l,3]
B) fix)=x*-x in[0,1)
© fx)=|x|in[-22]

(D) fx)=[x] in[25,2.7]

The interval in which the function
f(x) = x3 — 6x% + 9x + 10 is increasing
in

(A) (=0, 1)L (3, o)

(B) (=, 1]V [3, o)

The value of /24.99 is
(A) 4.999
(B) 4.899
(C) 5.001
(D) 4.897

If|3x -5 | <2 then

(A)

(B)

©

(D)

-ISxSl
3

7

l1<x< —
>3
leS2
3

9
-1<x< -
3

A random variable ‘X’ has the’}ustonarer

following probability distribution :

“Drive.in

{ - Drive.in

FRIIIIEEESIIE RS .y B = i

© [1,3] X VLS9 08 | 3 9] 7
D) (=0, -1]U[3, ) P(X) | k-1 3k| k| 3k| 3k2| k2| K2+k
Then the value of k is
The sides of an equilateral triangle are 1
increasing at the rate of 4 cm/sec. The A) -
rate at which its area is increasing, S
when the side is 14 cm (B) -2
(A) 1043 cm?sec © 2
(B) 1443 cm¥sec 7
(C) 42 cm?/sec (D) 1
(D) 14 cm?%/sec 10
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8. A R B v § FPpeDT 0@
PuSReN, P(A) = 0.2, P(B) = 0.6

B P(AIB) = 0.5 uhqad P(A'B) =

(A)

S|w

(B)

W

(©)

B | =

D)

W |

9 A o C)az!d NITE 9. =oo

10. w2y Sgodo 3 0 2 R WY
SoRe0T, B[ WS o i nied
§$=1{1,2234356 7 39 womd
Ros3 00T HORTPS T LW AR
Toad, 2OTDd FTO TR@T. & Roa3, o0
N0 ﬁm:soa.% (CTplowrn)
RogdsRechHdotn

(A)
(B)

©)

W | W Sl"‘ = |

(D)

11. 100 ﬁmozﬁﬂ?‘:ﬂ% Brodths U 0w
a@mdQA =3 B e risarivand% .
n(A) = 50, n(B) = 60, n(ANB) = 20

Taoendn =6, p I P(X =2) =12, SERERA R = Davestionpaper
( A) 40 {~Drive.in
PX=3)=5u08 P= (B) 20 ‘
> (©) 90
A TR
(A) T (D) 10
(B) ; 12. f:R> R3O fx)=vx’-Tx+12
: USRI, 53,209, DAN £(x) 3 863,
© 3 (A) (~o,3] U [4, )
(B) (-,3]U (4, x)
® = © (31N [4, ®)
i O (.4
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10. A man speaks truth 2 out of 3 times.

8. If A and B are two events of a sample He picks one of the natural numbers in

space S such that P(A) = 0.2, P(B) = 0.6 the set S = {1, 2, 3, 4, 5, 6, 7} and
: reports that it is even. The probability
and P(A[B) = 0.5 then P(A'B) = ‘ that it is actually even is
2
(A) i 5
10 1
(B)==
) 5
(B) - = C A
3 ©) 10
3
i (D) -
C —
©) > 5
D) 1 11. If U is the universal set with 100
3 elements; A and B are two sets such
that n(A) = 50, n(B) = 60, n(ANB) =
20 thenn (A'NB") =
9. If X’ has a binomial distribution with (A) 40
parameters n = 6, p and P(X = 2) = 12, 820 P e
{““prive.in
P(X=3)=5thenP = AR =
(D) 10
5
A i
@ = |
X 12. The domain of the functionf: R —> R

B i
® 5 - defined by f(x) = Vx% - 7x +12 is

(A) (=,3]U[4,x)

el
2 (B) (-, 3] (4, )
® 16 D) G.4)
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13. cos x = | sin x | IAEFTEIT mabaaﬂd 17. X 5=y+] =z+4 Soiiiess  mid

ToB0Y § e

3x -4y —z + 5 = 0 I33ond IR
(A) x=nnt % .neZ OO BRI
9
(B) x=2nmn+ % ,neZ (A) COS—'(W)
(C) x=nm+(-1)" i ,neZ (B) sin! (L]
2 %
(D) x=@n+rt -, neZ © cos_,[ 5 ]
2413
14. /3 cosec 20° — sec 20° = (D) sin"! [i
213

(A) 2

9 18. (1,2,1) 20003

(C) 4 o ( P JC 0 ) 0 o

D) 1 x;1=y;2=z_3 X0 Seadrt QT

40308y
%P2 <l ‘adﬁ% :%@ﬁm?zbd eade
243 245
W38 FoogE Torsor 08y (A) o (B) o
A 2
5 20

B) 3 © lj;—- (D) >

<€ 4

@) 5 19. XY-m=303

k DB, A, 3,-5) DR
' e S -l

16. 2x-y+z+3=0z30d (1,3, 4) ?( 1,-2,-3) Roronda) Beerds

VOTINOT PE LOWTHTE VOTRY ROVDEICR), IR SRS

(A) (1.4.3) (A) 2:1 03080

(B) (0.—4.-7) (B) 3:2 wemaon

SR D) 5:3 woEN
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13. If cos x = | sin x | then, the general 17. Acute angle between the line
solution is x-5 y+1 z+4
5 = : = and the plane
% =
(A) x=n1t:tj4-,nez 3x_4y_z+5_.0is
9
A T (A) cos™! [————]
(B) x=2nrnt 2 ,neZ J364
(C) x=nn+(-1)" T nez (B) sin” '(L)
4 V364
(D) x=@n+1)n+ % ,neZ (©) cos"( 3 ]
2J13
s 1
14. /3 cosec 20° — sec 20° = ). - . (z,jﬁ )
(A) 2
(B) 3 18. The distance of the point (1, 2, 1) from
<€ 4 the line 2— =y—2=z_3is
243
33 78
15. If P(n) : 2" < n! then the smallest
positive integer for which P(n) is true, . 25 :
: ) e  QuestionPaper
18 3 - Drive.in
A) 2 L
© 4 20
12
D) 5 3
16. Foot of the perpendicular drawn 19. XY-plane divides the line joining the
. from the point (1, 3, 4) to the plane points A(2, 3, -5) and B(-1, -2, -3) in
(A) (-1,4,3) (A) 2:1 internally
(B) (0,4,-7) (B) 3:2externally
©C} {1 3.~3) (C) 5:3 internally
D) (-3.5,2) (D) 5:3 externally
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20. SEDQ, OIS NS, VAT | 23 tovgrives 3 e B ¢ 3RO does
ne
2% = -
Y —j—and%. b 8 e a 3 IFexm -2
s | a | =
(A) 4
(B) 3
T g © 2
(10,0)
. (D) 1
(A) 4x+5y=20, 3x+ 10y < 30,
x<6, x,y20 A A e A A 7
. 24. 1 +2) +k D21+ +3k
-(B) 4x + S5y > 20, 3x + 10y < 30, B, I actsaant
x26, x,y20 n;'om 3 ! ®
(€) 4x+5y<20, 3x+ 10y < 30, o e |
x50, »ny20 ’i\+,'\+12 !
(D) 4x+5y<20, 3x+ 10y < 30, (A) - i
x26, x,y20 S ol
i+j-k
o N (B) NG
21y = Cre%™ + Cpe“™ wompos _
NN -+ QuestionPaper
TeBTeIT TWedr ot -i+j- {““Drive.i
(C) 1 ﬁ e.in
@A 1 | \3
(B) 2 Byl -
3 (D) NG
(D) 4
22. |a|=16,|b|=4 smon 25. [a+2b-c,a-b,a-b-c]=
IgxBR+3-BP = i
(A) 4 B) [a.b,c]
(B) 8 - =2 o
sy
O i6 © 2[d,5.¢]
(D) 64 (D) 3[a.b,¢]
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20. The shaded region in the figure is the > A
solution set of the inequations 23. If the angle between a and b is Tand
m“y the projection of a in the direction of
4) > -
~ bis-2,then|a |=
(0.3)
A) 4
(B) 3
; > X
0 (5.0) \\(6.0) m ()52
D) 1
(A) 4x + 5y =2 20, 3x + 10y < 30,
X506, .3,y20 = ;
- 24. A unit vector perpendicular to the
(B) 4x+5y=220, 3x+ 10y <30, o IR
plane containing the vectors i +2j + k
x26, x,y20 A SO
(C) 4x+5y<20, 3x+10y< 30, and 21 +j + 3k is
x50, &y=0 f+°+1’2
(D) 4x+5y<20, 3x+ 10y < 30, @ 7
X206, Xyz0 B s
i+j-k
B) N
21. The order of the differential equation =
= C: C‘ 1 A A . QuestionPaper
Vo CIe oy i C3C e, 15 (C) - /!\ G ] —ﬁ {'“""grievs;.in Pap
A) 1 \3
(B) 2 Sl
)3 (D) \ﬁ
(D) 4
o Pt B I e e M e N
22. 1f|2|=16,|b|=4then, o Ea e e G T
\I2xBP+|2-BP = :
- -
(A) 4 B) [a,b,c
g © 203.8.3)
©) 16
> =
(D) 64 (D) 3[a,b,c]
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3 2
26. fcor'xdx= 29. _[[xz]dx=
=3 0
WY % @A) 5-v2-43
ol ®) 5++i-43
g j“ © 5-v2+43
D)~ B=L2=43
27 f—l—dx— i
V5l 30. f L5 4T
(A) 2log(Vx +1)+C { ¥i=s
(B) %tan"\/;+c (A) %—1
© tan!Vx+C of
2
(D) 2tan!Vx+C
p| 4
e -
© >
2x-1 1 A QuestionPaper
28. f der=Al 1 {*'Drive.in
(x—1)(x+2)(x—3) . @ 3
|x—1|+Blog|x+2|+Clog|x-3|+K
smn A, B, C rsh es08,=0n
31, oI P AR +x + 1 =0 3R0eBTT
w T35 Soporivangd a? + B2 soLsed
@ L1l o1
6'3°5 -1+i43
(B)
o a1t 2
6, 3 !3 _]_iﬁ
wiint il © 2
(D) 532 s 1
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3 2
26. fcot“xdx= 29. f[xz]dx=
-3 0
(A) 3m (A) 5-42-43
®) 0 B) 5+V2-43
©) 6n ©) 5-V2+43
D) 3 Dy =533
1
1 1+x
27. | =——=dx= 30. — dx=
j«/;+x\/; '{ ot
(A) 2log(Vx +1)+C A) %“
T
(B) —tan Jx+C = §+1
C) tan'vx+C 2
e 2
D) 2tan!Vx+C 313
(D) 3
28. f A, dr = A log
(x=D(x+2)(x-3)
|x—1|+Blog|x+2|+Clog|x-3|+K, 31. If a and B are roots of the equation
then A, B, C are respectively x2+x+1=0then a?+ p2is
-11 -1
i e kR) 3
(A) 532
121 4 ~1+i3
- (B)
B FTs :
1 -11 .
b S L
-1-11
(D) T35 m -
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32_. 1,2,3,4,5, 6, 7 ©08ndd JSooszrs ;
SIerce 200 X Torte aow> tekess, | 36 J#sin3e e =
WOOT Tt TIRNWBOTE 4 es08ne @A) - %3 cos3x ? %2 sin3x h
Xoa3,cx0 3 3
(A) 432 2xcos3x ) 2sin 3x +C
(B) 436 . 9 27
(€) 450 B) x° cos3x i x” sin3x -
(D) 454 3 3
13. (x2 * y2)25 S (x2 s yz)zs 2 oxOR 2xcos3x i 2sin3x +C
o i
ROVEBORTIN CRBCR0E TENRY Hoas, : 7
(A) 0 (C‘) s x> cos3x . x? sin3x &
(B) 13 3 3
(C) 26 - 2xcos3x  2sin3x +C
(D) 50 9 27
: x> cos3x  xZsin3x
34, omd ORIt 3 epod SwoSe IEY BF; T VT |
9 soon oud Seny DD IonG ,
2xcos3x _ 2sin3x R
PO 9 27
(A) 35 ,,E’,’stipnl’aper]
9 {*Drive.in
(g) ;10 37. y?=x @oKood I a2 +y? = 2
EDz s HI SIS X-08 e B0
TOCDT DXeEIFRY WHT TWRINTE),
35. xo¥ Deadcdeomd APerE %ﬁdmoaﬁ A) £.-3
R FJemInvE)  evorOmRARTY, © 4 2
PIEN - S I B 2 4
(A) 45° o,
(©) 120° T
(D) 135° 4 3
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32. The number of 4 digit numbers without :
repetition that can be formed using the 36. j x* sin 3x dy =
digits 1, 2, 3, 4, 5, 6, 7 in which each : 3 390
number has two odd digits and two (A) SICOONON sm3x+
even digits is ’ 33 2si 33
(A) 432 et 4.
(B) 436
3 ;e
(C) 450 ®B) x~ cos3x e sin3x
(D) 454 . 3 3
2xcos3x 2sin3x C
33. The number of terms in the expansion TR 14
of 2 + y)* - (x2 - y?)? after 3 2 .
g rheg LS y x”cos3x x“sin3x
simplification is © - * +
&) 0 R
B) 13 2xcos3x  2sin3x +C
©) 26 9 27
D) 50 x>cos3x  x”sin3x
) ® - GEEmE
3 3
34. The third term of a G.P. is 9. The Sokadte - Aatani " |
product of its first five terms is 8 g :
(A) 35 :,.,iﬁgu/‘estipnl’aper‘
(B) 39 ! . A i rive.l
b 37. The area of the region above X-axis
© 3 included between the parabola y* =
(D)3 and the circle x> + y? = 2x in square
units is
35. A line cuts off equal intercepts on the A) 3
co-ordinate axes. The angle made by @) -
this line with the positive direction of T
X-axis is (B) N4
(A) 45°
B) %0 © 3-%
(B) 3 4
(C) 120° T 2
o D) ===
(D) 135 4 3
Space For Rough Work
Mathematics 13 A-1

-~ QuestionPaper
i " Drive.in




Downloaded from questionpaperdrive.in

38. Y-¢8,y =cosx @Ry = sin x ; 41. OeprE3 9 +25y2=2253
0.<x < 7 008 e 3rteonos sochad w%“?sm
DYEEIFTY (A) 3
(A) 2 -1 Sq. units (3. IRIND) ®) 2
(B) /2 Sq. units (23. Irisd) i ;
(C) 2+ 1 Sq. units (23. IRINeH) ‘;
(D) 2- 2 Sq. units (23. SRAD) e

39. (2x +3y)dy =y dx (y > 0) ©=383 42. Zn:(zr-l)=x s

ROEFTEIT BROFOT L9TSIIFID) r=l
1 5 kit b n’
- Iim | +—+—+....... +—|=
(A) eY no | x? J;z x2 x?
s 5 .5} 1
‘ ® - @ 3
& ® y 4 1
1 By P
© - e
1 (C) 1 #QuestionPaper
(D) 200 . (D) 4 i~ Drive.in
yz
43. ooy oduF eu3Fnsd R ErogE.”
40. .oz 38,0l cPde Word (x, y) B gu8o STTFE LV
3Q, V8 IJFET LY © WOTOII (A) o2 S I RsL
dPerzene  rorsowmINGd, (1, 1) AT F PO, .
VOTHNT et T JBeesd, o (B) #ox) e@z&ﬁ IZ s |
&8, Beadod BB DR F oSS,
(A) 2logx=y>-1 (C) dgom) aazsﬁ w:.iqt nish
®) 2logy=2+1 ST,
© 2logy=x*-1 D) o, R VI s
D) 2logx=y*+1 IR o33,
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38. The area of the region bounded by 41. The eccentricity of the ellipse
Y-axis, y = cos x and y = sin x; Ox2 + 25y2 =225 is
T, 4
0<x< EIS (A) g
(A) +2-1Sq. units ' ® 2
B) 2 Sq. units ;
(©) 2 +1 Sq. units €. 2
(D) 2- 2 Sq. units i
16

39. The integrating factor of the

differential equation (2x + 3y?) 2 c (2r-1)=x then
dy=ydx(y>0)is ,Zﬂ
1
A y lim 13‘+23+33+ +n3
e — e = T sescessas S =
(A) 1 Fprgl 18 5K L 2
(8) -
y? (A) >
1
© - ® + |
4 gu_esttpnPaper
1 ‘ : (C) 1 i Prive.an
i - (D) 4
43. The negation' of the statement “All’
40. The equation of the curve passing continuous functions are
through the point (1, 1) such that the differentiable.”
slope of the tangent at any point (x, y) (A) All continuous functions are not
is equal to the product of its co- differentiable.
ordinates is (B) Some continuous functions are
(A) 2logx=y*-1 differentiable.
B) 2logy=x2+1 : © Some: contir':uous functions are
% : not differentiable.
(€) 2logy=x"-1 (D) All differentiable functions are
(D) 2logx=y*+1 i continuous. :
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44. 100 ToINE TT0E TR JRTE 47.  [x] 00> NOE Femoros ev3F B[
QEoTen BTN 50 DR 4 B,38 Tone f(x) =x — [x] —cos x
SNIT, & T303NS InFnY

] - S esTon f’(£)=
(A) 251600 B
(B) 256100 A) 0
(C) 266000 ® 1
(D) 261600 ) 4
(D) ©23BODHOY,

45. ‘EQUATIONS’ 20w Inw Uiio‘ri?od _
0B BTNYRY ok IRBCNG. & S IRERR
@idﬁ'“?., 2,00 "N;d e &OCSJ 48. f(x)= e -1 ROLOTD
3, onartoss BogisRectdonn k-2 5 x=0

& . x =0 3Q eigmomenk =
Ay - 3
9 (A) =
. 2
B ~
9 (B) 9
3 5
© 3 © 1
o 2 2
9 e
3
3x+1 2x-1 x+2 x+1
46. |[5x-1 3x+2 x+1 | 49. f(x)=sin! [1+ 4x] s £(0) =
T7x-2 3x+1 4x-1
ORI BRSCHV 400083 (A) 2log2
' ) (B) log2
(0 © 2log2
B) 2 5
(©) -10 D) 4log2
D) 6 5
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44. Mean and standard deviation of 100 47. If [x] represents the greatest integer
items are 50 and 4 respectively. The function and f(x) = x — [x] - cos x then
sum of all squares of the items is f'( n) o
(A) 251600 2
(B) 256100 (A) 0
(C) 266000 B) 1
(D) 261600 © 2
(D) does not exist
45. Two letters are chosen from the letters ;
of the word ‘EQUATIONS’. The sin3x e
proba!)i[ity that oqe is vowel and the 48. iff(x)= e2* _1 . is
other is consonant is
k-2 e}
(A) E continuous at x =0, then k =
9
3
A =
(B) 4 2
9 9 -
3 ® < |
© = :
9 1
5 (C) 5 -~ QuestionPaper
(D) 7 { 'Drive.in
s o 2
3
46. The constant term in the expansion of
. x+1
3x+1 2x-1 x+2 49. If f(x) = sin™! [2 x},then f'(0)=
Sx—1 3x+2 x+1|is The
Ix=2" 3x+1 4x-1 (A) 2log2
(A) 0 (B) log2
®) 2 © 2%
C) -10
© , 4log2
(D) 6 (D) 5
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% % dzy 52. P D Q nsd IZO@medrod Ixwont
50. x=asec ,Y=atan emﬂ?— &a:%%’ﬂvahc;ad, PQ 5 QP 20800
2,000
(A) 2a
(A) FINS mds
B) 1
(B) ==wort mzbs
o o0
©) e, dJa:!db‘
(D) 4
(D) Q==wort 533%6
2 'y "8 -
¢ 7 -10 17
$1. i S dn‘%do:b T, edned 53. 3A+4B'= 0 6 31 DB
-1 0 .3 - 8
S5 B 2
. 2B-3A'=| 4 0 | seniB =
& et
(A) -15 6 -5 - 1 3
E 5 -2 2 (A) =4 | 1 ‘,,.<:£gugstipnPaper‘
i Drive.an
e e
: S o A -
M) (-1 -6 -2 1 =3
LY =y @ i-1 1
} | 2 4
3 =158 i
L T R R e e
1 -5 2 (O 4 -16
n (=% =T
ST = 2
(D) 1 ;5 52 : 3
1 . _2 o -1 1
Bl er S 2 -4
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52. If P and Q are symmetric matrices of

2
50. Ifx=asec?0,y=atan0 then ﬂ—%’=
dx ~ the same order then PQ - QP is
(A) 2a : (A) identi .
identity matrix
(B)
© 0 (B) symmetric matrix
(D) _
(C) zero matrix
(D) skew symmetric matrix
51. The inverse of the matrix
30 7 -10 17
RS Y 53. If3A+4B'= b . 31] and
=] Q. =3 b 18
2B-3A"'=| 4 0 |thenB=
[ 3 -1 1 S
A |-15 6 -5 £
[ 55 g 2 1.3
e S w7
— 3 Y 5 5 | 2 4 DL:‘\,\ r
®) |-1 -6 -2 Py
L1 2 vl T R
b - i |
o[RS BN :
(- 1=1""% ¥ ' =L =19
SAACT BT © |4 -16
| -5 -7
| 1 =8 =] (2 -4
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R {i _3] a _[2 —1] Sl 58. o3  wenow Rodnd  nend
: 4 (2} 2 4
fABB'|=2 QERSeH * B a*b = g-g—llaom
(A) 50 0,20, VReNT. 2 * x =371 &3, x =
(B) -250 ; 1
(C) 100 (A) %
(D) 250 5
: (B) T
§55. wom O TErod Aporosd
ddodn 16 ONT), @ AEOFoss (&) %
SOBNTIY OIS IBrOENPOT 125
WEOATON, AGRFUBE Bdoso (D) 8
(A) 96
(B) 48 i3 43
(C) 256 59. cos|2sin Z+cos 3 o
(D) 16 =3
(A) ey
$6. f:R—> R g: [0, ) >R I ‘ 3
fx) = 2 DY gr) = Jx oo e
mdmdaﬁmnd. &4 gvm@ﬁ"f@m C 3 A gugstipn?apeﬂ
OXRPOTO FOARTOTL, ? e o bl
(A) gof(@9)=4 (D) does not exist
(B) fog (-4)=4 ,
EI(Z:); £°gf§2)2)=_22 60. a+Z<2tan!x+3cor!x<b ewen
of (<2) =
‘a’ B ‘b’ rieb =08, oM
57. A={x|xeN,x<5},B={x|xeZ x? (A) 0 I ;
-5 +6 =0} s A 208 B R e
eOKTIOR SHewEs U3 RY Foad, 00 (B) g % 2n
(A) 2
®) 23 (C) O=22n
(©) 30 (D) T X
D) 32 2 g
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1 3 2 -1
54. IfA= ,B= ,
[4 2] [1 2] heo

| ABB'| =
(A) 50

(B) -250
(C) 100
(D) 250

55. If the wvalue of a third order
determinant is 16, then the value of the
determinant formed by replacing each
of its elements by its cofactor is

(A) 96
(B) 48
(C) 256
(D) 16

5. f:R—> Rand g: [0, ®) > R is
defined by f(x) = x* and g(x) = Vx.
Which one of the following is not
true ?

(A) gof(4)=4
(B) fog(4)=4
© fog(2)=2
(D) gof(-2)=2

57. IfA={x|xeN,x<5},B={x|xeZ,

58.

59.

60.

On the set of positive rationals, a
binary operation * is defined by

2
a*b:ﬂ_
5
If2*x=3thenx=
|
a0
(A) 5
5
R e
(B) T
' 2
v
(©) 5
125
B TR
(D) 48

cos 2sin‘]2+cos']1 =
4 4

-3
A i
(A) 2
3
®) .7
3 ,,.:gstipnPaper
(C) g i Drive.in

(D) does not exist

lfa+g<2tan"x+300t"x<b

then ‘a’ and ‘b’ are respectively.

x? — 5x + 6 = 0}, then the number of (A) Oandm

onto functions from A to B is B Eo,

@A) 2 (. el 2
(B) 23 (C) Oand2n

© 30 -n__.m
®) 32 B T Y
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COMMON ENTRANCE TEST-2019

1. Candidate must verify that the CET number and Name printed on the OMR Answer Sheet is tallying with the CET Number
and Name printed on the Admission Ticket. Discrepancy if any, report to invigilator.

2. This question booklet is issued to you by the invigilator after the 2* bell i.e., after 2.30 pm.

3. Candidate must verify that the Version Code of this Question Booklet is tallying with the Version code on the OMR
Answer Sheet. Discrepancy if any, report to invigilator.

4. The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.

5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

DONTs:
1. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED / SPOILED.
2. The 3™ Bell rings at 2.40 pm, till then;
e Do not remove the seal present on the right hand side of this question booklet. .
: ¢ Do not look inside this question booklet or start answering on the OMR answer sheet.

IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 60 questions and each question will have one statement and four distracters. ( Fourdiﬁ'ﬁstipn?aper‘
options / responses.) ¢ Orive.in
2. After the 3 Bell is rung at 2.40 pm, remove the paper seal on the right hand side of this question booklet and check that

this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced immedaitely by

complete test booklet by showing it to Room Invigilator. Read each item and start answering on the OMR answer sheet.
3. During the subsequent 70 minutes :

s Read each question (item) carefully.

» Choose one correct answer from out of the four available responses (options / responses) given under each question /
item. In case you feel that there is more than one correct response, mark the response which you consider the best. In
any case, choose only one response for each item.

e Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number
on the OMR answer sheet.

ROIRT 8,3 3 8,31 WRONG METHODS

CORRECT METHOD @@@ @@@@..@ '
DOOPIPEOD® ®O® OO

4. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.
5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same. ‘
6. After the last bell is rung at 3.50 pm, stop marking on the OMR answer sheet and affix your left hand thumb '
impression on the OMR answer sheet as per the instructions.
7. Hand over the OMR answer sheet to the room invigilator as it is.
8. Afier separating the top sheet (KEA Copy), the invigilator will return the bottom sheet replica (candidate’s copy) to you
to carry home for self-evaluation.
9. Preserve the replica of the OMR answer sheet for a minimum period of ONE year. |

DATE SUBJECT TIME QUESTION BOOKLET

' VE‘(‘)SI;‘;" SERIAL NUMBER
29-04-2019 |MATHEMATICS| 02.30 PM TO 03.50 PM EJ
A-1 2
L
Total Maximum Time for Maximum Total No. of Mention Your 3
Duration Answering *  Marks Questions " CETNumber 8
80 Minutes | 70 Minutes 60 60 2
i)
DOs: -
)
P
o
o
>

Created b

-

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.

A-1 24
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